Standard Chemistry

Chapter 10 Quiz

	1.
	Two electrons occupy the same orbital. They differ only in the:
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principal energy level occupied.
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type of sublevel in which they are found.
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shape of the orbital they occupy.
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region in space occupied.

[image: image5.wmf]E.

spin of the electron.




	2.
	Of the characteristics listed below, which does not distinguish an s orbital from a p orbital?
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number of electrons accommodated
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orbital shape
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number of orbital orientations
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energy




	3.
	Which of the following would represent a [image: image10.png]


orbital?
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	4.
	How many types of sublevels exist in the third principal energy level?
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	5.
	Which of the following would represent the electron configuration of Mg?
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1s22s2
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1s22s22p2
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1s22s22p63s2
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1s22s22p63s23p2



	6.
	The following would be the electron configuration of which element listed?

1s22s22p63s23p64s23d104p65s24d105p2
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Sr
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Zr
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Mo
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Sn
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	7.
	Which element would have the orbital diagram shown below?
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Ca
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Mn
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	8.
	Identify the element with this atomic structure diagram.
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Cl
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Rb
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Xe
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Br
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	9.
	Which of the following is an electron configuration of a noble gas?

[image: image45.wmf]A.

1s22s22p63s23p64s23d104p3
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1s22s22p63s23p64s23d104p65s2
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1s22s22p63s23p64s23d10
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1s22s22p63s23p64s23d104p65s24d105p2



	10.
	Element 33 is surrounded by elements with the following atomic numbers. Which element's properties most closely resembles element 33?
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	11.
	Which of the following atoms has 4 valence electrons?
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	12.
	In which period and group of the Periodic Table does an element have one electron in 4d orbital?
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5, IIIA




	13.
	Which of the following electron configurations would correspond to a representative metal?
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1s22s22p63s23p64s23d104p65s2



	14.
	Which of the characteristics listed in the choices is not correct for the element with the orbital diagram shown?
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	15.
	Which element on the Periodic Table is the first to complete the 4f orbitals?
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16. How does Period 5 fill from left to right?

17. Open your Figure 10.8 that shows the 5 energy levels and then add the 6th level. Save this as Fig10.8.6 and email it.

18. Which Twinkie experiment is most closely associated with Chemistry and why?

19. What does this mean?  [Ar] 4s2  ?

20. Using the photograph of the Whiteboard on the Standard Chemistry web page and Geometer’s Sketchpad, identify the 3p3 electron. Label and send the file. Name it WB20.gsp.
David A. Young
page 8
05/03/2005

_1237625752.unknown

_1237625768.unknown

_1237625776.unknown

_1237625780.unknown

_1237625782.unknown

_1237625783.unknown

_1237625781.unknown

_1237625778.unknown

_1237625779.unknown

_1237625777.unknown

_1237625772.unknown

_1237625774.unknown

_1237625775.unknown

_1237625773.unknown

_1237625770.unknown

_1237625771.unknown

_1237625769.unknown

_1237625760.unknown

_1237625764.unknown

_1237625766.unknown

_1237625767.unknown

_1237625765.unknown

_1237625762.unknown

_1237625763.unknown

_1237625761.unknown

_1237625756.unknown

_1237625758.unknown

_1237625759.unknown

_1237625757.unknown

_1237625754.unknown

_1237625755.unknown

_1237625753.unknown

_1237625736.unknown

_1237625744.unknown

_1237625748.unknown

_1237625750.unknown

_1237625751.unknown

_1237625749.unknown

_1237625746.unknown

_1237625747.unknown

_1237625745.unknown

_1237625740.unknown

_1237625742.unknown

_1237625743.unknown

_1237625741.unknown

_1237625738.unknown

_1237625739.unknown

_1237625737.unknown

_1237625728.unknown

_1237625732.unknown

_1237625734.unknown

_1237625735.unknown

_1237625733.unknown

_1237625730.unknown

_1237625731.unknown

_1237625729.unknown

_1237625724.unknown

_1237625726.unknown

_1237625727.unknown

_1237625725.unknown

_1237625720.unknown

_1237625722.unknown

_1237625723.unknown

_1237625721.unknown

_1237625718.unknown

_1237625719.unknown

_1237625716.unknown

_1237625717.unknown

_1237625714.unknown

_1237625715.unknown

_1237625713.unknown

